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Section 2.3 #42
3% WolframAlpha
: extrema of 2cos(x)*2-sin(x) =]
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https://www.desmos.com/calculator
https://www.wolframalpha.com/input?i=extrema+of+2cos%28x%29%5E2-sin%28x%29
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Find the exact value of
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Angle Sum Formulas = ",'Eﬁ: (% A
sin(u +v) = sin(u)cos(v) + sin(v)cos(u)
cos(u +v)= cos(u)cos(v) - sin(u )sin(v)
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You have to determine the *“+ deal by determing the quédranr in which — resides.
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Don't sweat separate formulas for cos(u - v):

c){(”—V\ = c05(4 + (—"))
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Write the expression as the sine, cosine, or tangent of an angle.
sin 2 cos 1.4 — cos 2 sin 1.4
= siB)ws(id) L wsta)si 1Y)
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Write the trigonometric expression as an algebraic expression.

sin(arctan 9x — arccos x) = g¢x(u — 7))
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